Clarifieation eu Hee DIFFERENCE fefween
+the MATRIX FoRM of o £.5. and
the VECTOR FORM of the SoLution) to a .5

Tn the /Ja_uL o number 9{ sterclents W fec
WS&A aBout Hee a&ﬁﬁ&rf/t/tc/ﬁ nameed in the Hitte,
T will tlusteate i Leloco with a §/Lemff"c_ él)é'(mp/é.
Consider a £.s

X + $Xp ~Z X3 = 6

TH+s MATRIX F:ORM /s

(Jo3)x= (%), ey,

The sobidion +o Hus Lis, £
X = ~4 -3 x3

The  VECTOR FORM of Hus SOLUTION is:

(3) (%
250 2 ) )X
O 1
The \ECTOR EQ UATI O e{iw‘uagenf fo «?.s,@) /S :
Xy (3> txx (o)t x5 ( -—-) (& J

(Sometimes Hug, can be called He VECTOR Eolm Lhe (..
S V\____,e/=t “of the SOLUTION of Jho €.s.">




